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fHFRERF—Xo—F 1,450 = 1,580
Lo 3,600 = 3,700
NASU WHITE 2,100 = 2,180
AR F—XOvF+— 4HAD 500 = 550
R F—XOvF— B8HAD 1,000 = 1,100
B F—XovF— 168AD 2,000 = 2,100
HEEEX v T+ 720 = 780
JaF>>x 2EAD 420 = 460
JaF+>>1 6@EAD 1,260 = 1,380
JqF>>1 10BAD 2,100 = 2,300
HLwv hF-X 2MAD 420 = 460
ALy hF—-X 8HAD 1,680 = 1,840
F-XS>2T Ry 5KAD 690 = 740
F—XS> R v 10AD 1,380 = 1,480
21— 15@AD 1,080 = 1,180
d—-kE—>a2—-35X%T 10AD 860 = 950
TJF7—FERR—-ILARORU— 90g 350 = 380
IN—=LT—~> 1EAD 1,100 = 1,200
HRFZ AAD 880 = 950
WBZDI)LTIr—1 4HMEAD 580 = 680
FrSHAILF-XDII)ILT«4—1 4EAD 580 = 680




